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QUESTION 1

An architect is designing a vRealize Log Insight cluster for an organization with the following requirements: 

The organization has an external load balancer available to provide load balancing for various 

requirements. 

Due to budget constraints the organization need to reuse existing environment as much as possible. 

What should the architect choose as the load balancing solution for the vRealize Log Insight cluster? 

A. Use the integrated load balancer 

B. Deploy a new external load balancer 

C. Use the existing external load balancer 

D. Use both integrated and external load balancers 

Correct Answer: A 

 

QUESTION 2

Which design decision should an architect make to support continuous availability in vRealize Operations? 

A. Each Fault Domain should contain only remote collector nodes. 

B. The vROps cluster should be separated into three Fault Domains. 

C. Each Fault Domain should consist of primary, witness and remote collector nodes. 

D. The vROps cluster should be separated into two Fault Domains. 

Correct Answer: D 

 

QUESTION 3

An architect designed a vRealize Log Insight (vRLI) cluster for an organization with the following details: 

The cluster has 3-nodes with 2 event forwarders sending logs to this cluster. The vRLI cluster is part of the disaster
recovery protection process. 

What should be the proper sequence of steps in the Disaster Recovery (DR) protection runbook for recovering vRLI
cluster? 

A. 1. Restore the forwarders 

2.

 Restore worker nodes in any order 
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3.

 Restore the master node 

4.

 Restore any recovered agents 

B. 1. Restore the master node 

2.

 Restore worker nodes in any order 

3.

 Restore the forwarders 

4.

 Restore any recovered agents 

C. 1. Restore the worker nodes 

2.

 Restore master node 

3.

 Restore the forwarders 

4.

 Restore any recovered agents 

D. 1. Restore the master node 

2.

 Restore worker nodes in a specific defined order 

3.

 The forwarders 

4.

 Restore any recovered agents 

Correct Answer: B 

 

QUESTION 4

A cloud architect is writing an implementation plan for deployment of a clustered vRealize Automation deployment that
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will use a third-party load balancer. 

Which two steps should the architect include within the implementation plan to ensure a successful deployment of
vRealize Automation? (Choose two.) 

A. Disable all secondary nodes from the load balancer pools 

B. Create and configure the monitoring of vRealize Automation and vRealize Orchestrator 

C. Ensure all the SAN certificates for vRealize Suite are available 

D. Enable all non-primary nodes on the load balancer 

E. Turn off the health monitors or change them temporarily to default to ICMP and ensure traffic is still forwarding to the
primary node 

Correct Answer: BC 

 

QUESTION 5

A design for a Cloud Management solution includes a section that describes the association of vRealize Operations
solution with a remote collector for the purpose of gathering performance and usage metrics. 

Which area of the design would contain that section? 

A. Logical 

B. Conceptual 

C. Requirements 

D. Physical 

Correct Answer: A 
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